ggH 115 GeV — 1 TeV signal fits of
the new MC samples

Zuzana Barnovska, LAPP, ATLAS
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Something weird is happening around 200-300 GeV —
no narrow width approximation
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Chi2 of all the fits
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These are from the first fits | made a week ago — but they are
essentially the same, except for ggH125 — that one | can not
bring below 5k



The fits, also In log scale
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The signal peak widens
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Beware: From here, the range of the x axis changes to +-
120 GeV around the peak (before it was 80), maybe it is not
the smartest move (for comparisons)
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Conclusion

- What about the samples 160 — 280 GeV?
- any suggestions are welcome



